cross stitch information thread

Stitch Count 89w x 97h Symbols Color DMC Skeins
Finished Size 6.375" x 7" * Red 321 1
Cloth Slate Grey 14 Count Aida by Fabric Flair = Pink 776 1
Thread 2 strands of DMC o White White 2

Model Finishing Finished by Priscilla Blain of The Real Housewives of
Cross Stitch (priscillas2000.blogspot.com) using Priscilla’s
Pretty Plaids fabric (SKU# 9300-8), Stitching with the
Housewives Red 3" Gingham Ribbon, Stitching with the
Housewives Red 34" Ticking Stripe Ribbon and the Pierce
board by Stitch, etc.
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